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Attributes of Sine Graphs in Parent From
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Amplitude: X - intercepts:
Period: Y - intercepts:
Phase Shift: Domain:
Vertical Shift: Range:
- Amplitude: What is it? How to
- find it. How does it affect the graph?
1:25 .
f(x) =A4sin(Bx— C)+D
amplitude = |A|
0:25
-mf2 0 n6 T3 2  2w/3 5n/6 7n/6 4w/3 3w/2 5m3 1In/6 2w 13n/6

f(x) = 2sin(x)




Period: what is it? How to find it.

How does it affect the graph?

f(x) =Asin(Bx—C)+D

2
. period = 3

0 2 m 3n/2 2m sm/2 3m 2 4m

£ (x) =sin(2x)

1 f(x)=sin(%)

-1:25

/

Y

Phase Shift: whatis it> HOWD

find it. How does it affect the graph?

a .
.- f(x) =Asin(Bx—C)+D
e . (5
phase shift = 3
025 Graph moves horizontally left if C
is Positive
e 0 w6 w3 w2 2mW3 5u6 T 76 4wW3 3m2 5W3  11me 2w Graph moves horizontally right if C
\_ is Negative )
-0:25

f(x) =sin(x— g) f(x) =sin(x+ %)

Y-

/
)

Vertical Shift: what is it? How

== to find it. How does it affect the graph?
i ( f(x)=4sin(Bx—C)+D )

: vertical shift = D

Graph moves vertically up if D is

5 Positive
p Graph moves vertically down if D
gz is Negative
N \_ J
o f(x) =sin(x)+3
-m/6 0 e 3 w2 2n/3 5m/6 m /6 4n/3 32 5n/3  11nfé 2w
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Amplitude:

Period:

f(x) =1.5sin| 2x —

r
3

Phase Shift:

Vertical Shift:

X - intercepts:

Y - intercepts:

Domain:

Range:
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f(x) =—sin[x+ % 41

-

Amplitude:

Period:
Phase Shift:

Vertical Shift:

X - intercepts:

Y - intercepts:

Domain:

Range:
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- f(x)=5sin(1rx+§
Amplitude:
Period:
Phase Shift:
Vertical Shift:
X - intercepts:
Y - intercepts:
Domain:
Range:







